[5534[H]])
1966F2H28H~3AH4H
BN EFRFE—V X —

V&1 - 2828H 1P 2P 3P
EBKE 0 4 4
BEKRZFE 0 4 3
V&1 - 2828H 1P 2P 3P
v =7 1 2

2HAKRF 1 0 1
V¥gE20E - 351H 1P 2P 3P
=EH 2 1

HE SR 1 0 1
V¥gE20E - 351H 1P 2P 3P
HAEL 6 4 7
DEBRE 2 0 0
V¥gE20E - 351H 1P 2P 3P
BEEERIT 1 3 3
mil =7 1 1 2
V¥gE20E - 351H 1P 2P 3P
T FEIK 2 4 1
EEHEKXZE 0 0

VARpsY —42 - 382H 1P 2P 3P
=EH 2 1 4
HAEL 0 2 0
ViAapsY —42 - 382H 1P 2P 3P
T FEIK 3 0 2
BEEERIT 0 1 0
ViAREsY —2 - 383H 1P 2P 3P
=EH 1 0

BEME A RT 1 0 1



VREY—7 - 3A3H 1P 2P 3P E

T FEIK 4 3 0 = 7
HAEL 0 2 2 = 4
ViARpsY —42 - 384H 1P 2P 3P E
T FEIK 2 1 4 = 7
F=y=¥i| 0 0 0 = 0
ViAREsY —42 - 384H 1P 2P 3P E
BEREERIT 0 4 0 = 4
E=RCI SN 1 0 3 = 4
\VA=3<3 =X iva B o W BR KR sxzax R
147 1 EFEHRK 3 0 0 19 5 14 6
21 & 2 0 1 10 11 -1 4
3L BEMEERIT 0 1 2 7 12 -5 1
3L EAEL 0 1 2 10 18 -8 1



